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A: Hello everyone. We are from Akita. I’m Shouetsu Ibata.

B: I’m Natsuo Tamura.
C: I’m Hiroto Kimura.
A: First of all, do you know what this is? Right, this is a four-dimensional pocket. Natsuo. you want this pocket, don’t you?

B: Yes! I’ve wanted it since I was a child because there are many tools.  I can do anything with this pocket.

A: For example?

B: With Dokodemo-door, I can go anywhere.
A: I see. By the way, do you know how many tools Doraemon has?

B: Umm… I don’t know. I guess about 100.

A: Not really. In fact, he has about 2,000 tools.

B: Really?

A: Yes. But the important point is that he knows how to use them. I think you can’t use the tools by yourself because you don’t know how to use them.

C: Actually, similar things happen in our life. Today, we are going to talk about a problem between users and engineers. The problem is a gap between them. The purpose of this presentation is to show you a way to fill the gap, namely the introduction of AI. We have divided our talk into 4 sections. The first section shows you views from users and engineers. The second section provides a solution to the problem. The third section shows you some merits of introducing AI. The last section concludes our presentation. That’s all for the introduction. Let’s move on to the first section. In this section, we will show you views from users and engineers. Let us start from users’ view.
B: Hmm, Shouetsu, help me. I can’t make a recording of Doraemon.

A: How come?

B: This remote has too many buttons.

A: I’ve never seen such a guy.

B: No! Actually, this is not a problem only for me, but also for many others. I went to a house appliance company as my internship. During my internship I had an opportunity to visit customers and repair their house appliances. At that time many customers told me that it is hard to use multi-functional products and they can’t understand the function. There is a data to support their opinion. Let's take a look at the result of a survey conducted by Nandemo Tyousadan, which literally means “surveys on everything” in 2013. This survey included the following question. “Do you remember any mistakes in choosing your home appliances?” The most frequent answer was this. “There are functions that I do not use.” And the second was this. “I think the operation is troublesome and stopped using it.” As you can see from this data, it seems that many people cannot use their home appliances correctly. That’s all.

C: I see. Thank you, Natsuo. So, you saw that many users cannot use multi-functional products correctly, right?

B: yes.
C: Then, here is a question. Why are recent products multifunctional? Now, let’s take a look at engineers’ view. Shouetsu, did you hear anything during your internship?

A: Yes. I have heard the following story. According to companies, there are two main reasons. The first reason is to meet the various needs of many customers. It cost a lot to make 100 different products to meet 100 different needs from different customers. Rather, it is so much cheaper to make one multi-functional product which can meet various needs. The second reason comes from the promotion of products. Engineers think that having more functions is better because it gives additional values.

C: Thank you, Shouetsu. So, you saw that companies think multi-functional products are better, Right?

A: Yes.

C: That’s all for the first section. Let’s move on to the next section. In the previous section we saw views from users and engineers. On one hand, users cannot use multi-functional products. On the other hand, engineers think multi-functional products are better. Now, here is a problem. Namely, there is a huge gap between users and engineers. Our goal is to get rid of the gap between them. In other words, we want to build a bridge between complex and simplex. It would be the best if each family has an expert. But it is not realistic. So, we have to find another way to solve the problem. We think AI can fill the gap. AI will be a bridge between complex and simplex.
B: By the way, what is AI? To tell the truth. I don’t know much about AI. Why can AI fill the gap?  Shouetsu, do you know anything about AI? 

A: Yes, I know. AI stands for artificial intelligence.

B: I can’t get your point. Is it a kind of computers?

A: Not really. There is a huge difference. For example, look at this picture. 
B: Oh, it’s a cute dog.

A: Right. But AI and a computer can’t answer. Now I will teach AI and a computer that this is a dog. Then they know that this is a dog. Next, what is this?

B: It is a dog again.

A: Right. AI’s answer is a dog, and computer’s answer is e... 

B: Error!? What does it mean.

A: Computers make one to one relationship between a picture and its name. Therefore, computers can’t answer a new question. But AI collects main features from pictures and makes a generalization regarding dogs. By the way, why did you think that it was a dog?

B: Are you kidding me? A dog is a dog.

A: Umm…… 5 points.

B: 5 points!?
A: It seems that you answered unconsciously. But in fact, we human judge things in almost the same way as AI does. 
B: Really?

A: Yes. Because AI was created like a human. So, AI can learn things and judge things by itself. Now, what will happen if home appliances are equipped with AI? 
B: Let me arrange my thought. Now, users have a request and they have a machine which can satisfy their request. However, they don’t know how to use it because it has too many functions. If we have a machine with AI, we can use functions that we couldn’t use before. So, I can make a recording of Doraemon by myself. Oh, wait. It’s like having an expert in my house, right?
A: Exactly, but that’s not all. AI will be beneficial not only for users but also for engineers. Now Engineers have to find broken parts of machines and discover the cause, but by introducing AI, machines can find and report the cause before a human find it. So, engineers can reduce repair time. And it can prevent machines from serious damage.

C: Let’s move on to the final section. In this section, we will conclude our presentation.
A: Now, let me ask you this question again. Natsuo, you want this pocket, don’t you?

B: Yes, but this time, I want this pocket with Doraemon.

A: Yes. that’s the point. But what if Doraemon is broken?

B: Well, it doesn’t matter, because he can find and fix his problem by himself.

A: Exactly!

C: Today, we have seen that there is a huge gap between users and engineers. Just like in the case of the four-dimensional pocket, users cannot use multifunctional products. However, introducing AI can fill the gap because users can use multi-functional products more easily. In addition, there are some merits for engineers. In the future, machines will find and fix their problems by themselves, like Doraemon. That’s all. Thank you for your attention.
